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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oo falcarRd el Teq fi

_fa) In a capitalist economy, the level of
employment depends on

g4 <[t s e war w1 fé3 3@
(i) level of aggregate demand

AR HIRAR TAR 8o
(ii) level of aggregate supply

SHE @9 TaQE S99%



(2)

(iii) level of effective demand
ey BIfFR TR eome
(iv) None of the above

ST GBI T
( Choose the correct option )

(o Reschr ik Sferear )

ﬁ;}' Aggregate demand can be expressed as
HAREE BIRAT 2R R +fifd

() D=D, +D,

(i) D, >D,

(i) D, <D,

(i) D=D, -D,

where (378) D = Demand (oifzar)

Dy =Consumer demand (CSIeR v1f31) and
(|1¥) D, =Investment demand

(Rfcet oifz)
( Choose the correct option )

(o Remehr 1f Sfvyen )

'(/CJ/ When money wage rate is unchanged
the slope of aggregate Supply function is,

e 141 1541 39
mmwwﬁm, cofe s

(i) linear

aRe

22A/40 ;
( Continued )

(

22A /40

(3)

(ij) non-linear
9-03Re
(iij) curved
qEF
(iv) Any shape
RSACIRCIEASE]
( Choose the correct option )

(o= fscer AR Sferear )

According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

TS =900 2
(i) inverse
EREIS
(i) linear
(IR
(iii) non-linear
w- [ ]

(iv) both inverse and non-linear
R e I S-CART bR

( Choose the correct option )

(o RO AR Tereay )

( Turn Over )



( 4)

(e) Phillips curve determines

= feforom @3z Pt <

() employment rate

s ==

(i) unemployment rate
e 29
(iii) inflation rate
Tarfifes 7]
(iv) All of the above
ST BRI
( Choose the correct option )

ﬁ, What is modified Phillips curve?
MCNES Referez @ & 2
(g)?/What is assignment problem according
to Mundell?
TCSER TS Tfgeld FRG T 2

(h) ,What is Dornbusch’s overshooting

/ model?
T S SIfes S f 0
c/!"f Define international financial market.
ST K8 e sige foa |

0;/ What is open economy?
TE w2fqifs f o

tioia ( Continued )

(5)

2. Answer the following : 9%5=10
wEe [MAARd el faan - :

g/{ Differentiate between spot and forward
exchange rate.
=0 [ TG [ T Toro e Ay
FH11
(b ﬁ:’rite two constituents of international
financial market.

rgeifoe A8 & 701 S T fors|
(c) What are the I-S components . of
/) Mundell-Fleming model?
sre-gris A -G o= ﬁ;
&2

Give two merits of Phillips curve as a
l -
ﬁ/ tool of economic theory.

el g e Ronet ffieR (e 1 @
ferar 1

ne impossible trinity of Mundell-

}} e del
mlng model.
i;:a—o?ﬁ: wif¥q wpREd @A A viee fi o

e following : 5x4=20

ich cause shifts
e the factors whic
(@) .What a;hort-r'un Phillips curve?
;T;:hc TRee ZIeeR Rl @R
2[4 (e = ?
W ( Turn Over )
20A/40



(d)
s

(e

22A/40

(6)

Explain the concepts of rational
expectation in theory and practice.

offe WE AR cFae (e aeriR
IRECO! T 41 |

What is adaptive expectation? Mention
three limitations of
expectation.

Sfewfes eern 5o e fRDT Summer
ey 391 |

adaptive

How is the exchange rate determined in
a free market? Explain briefly.

e RS [T 29 R B <91 27, oyt
I 4T |

What are the relative importance of
aggregate demand and aggregate
supply?

TR v W RS @ 9w
"ﬂ?""’fﬁﬁmﬁs?

How can the aggregate supply function
be derived?

R o Form e e w4 27

( Continued )

(7)

4. Answer any four of the following : 10x4=40
oo Ricge BifeR Te i
(a Explain the purchasing power parity

L

theory. Discuss its limitations.

Fy WYOR el Sghl I T TN
SREerTZ s 4T

g}, Explain Mundell-Fleming model in

(c)

22A /40

terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

spoefef B JAET oice B o RIS
RENT ZTM© [EF-GFRE @t o e
e e ! I T4 1

How does the Phillips curve explain the

trade off between unemployment and
inflation? Discuss its policy implication.

R @R @@ @ e qurdfes
e o T T 2 R Afeere Resepryz
S RISEI

Wwhat do you mean by effective demand?
What are its determinants? Explain
briefly-

g o o & T2 /R Somrprz £
&1 5@ EHEISEIN

( Turn Over)




(8)

(e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.

WHEE vt e TNES @SR RIS
SRS ST (e AR F91 7Y, 9
41 |

() “Explain the Dornbusch’s overshooting
4 theory. '
54 SRR SECH! T < |

(g) Write a note on monetary approach to
balance of payments (BOP).

G el (BOP)A Y@ire 7Esei e/[s
<51 o1 for4i |

(h) Explain the asset market approach to
determine exchange rate.

Rf 2R R TR Tom IR GEe
GRS

* * %
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